<H2 EWTABIRK> —aE R
[ZER] QWA WAZRENT FREE
(1) ( ) e E ey R

— () ZEFIF L. MEEER BT, AT ERBEL, BHL T,

X—-4(x+y)=7 ---D
o e

DEY ., 3x—4x-dy=7 DEQIZfA
—X—4y=T7+@ 5+2y=1
2y =—-4
=-2
(®) {—x—4y=7 g
(@x2) +)10x+4y =2 w1
9x =9 e { __o
x=1 @ (&)
(2) m¥EETE ijﬁit
Snd=SC T TPVAR oy INEEGE L CToREIELL, BHEL THHML,
1,.2.,_
1] {Z”?y‘ 1o
Krey=t 0@ DEDIZRA
QoML % 12 1L T, 3x-6=6
3x+8y=-12 - 3x=12
(@-®) =
{3x+8y:—12 @ X =4
—)3x+2y=6 ...® (/Q){ —_3
6y=-18
y=-3 @

(3) /NEz& e ST RE

/NS L7 D 10 %, /N 2 (72 B 100 572 & L CEBUCIE L TN fE<

(4) A=B=C Al @ HiER

(A)=(B)
[#1]] x+3y=5x-3y=9 —>{(B)=(C) D HLEHIZR D 2 DS TRRL,

(A) ®  (©

] {5x_3y:9 @ ((B)=(C))

(@O+@) &b,
6x=18
X=3 @
X=3
WIRALT, y=2
@EDITARALT, y (g){yzz

(A)=(©) (A) = (C).(B) = (O)%fH 5 = L H%\

Se BernrsEET



